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qﬂf&l - close call = bad news i i
4 - Confused = didn't understand 1.5
#5- 1n a tight comer = in a
problem  AUSus b

6 - holiday makers = tourists g

7- over the moon = happy dusw
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m:e, invited snme of my friiands toal'i?:; ;
some drinks. They agreed to my idea as

We went into the first cafeteria on the way. Each

of us had some

: i of payment. To
sandwiches and a cool drink. Then came the time oI P y

my astonishment, 1 found no money in my pockﬂ;i; i
changed my trousers and forget to take the money-. 45 3f they
turned red, I didn't know what to do. I asked my frien ligets
hand money, but the money they had wasn't enough to p };ice
bill. The waiter became angry and wanted to take us t0 the Pg hin; :
To our good luck, my cousin came in to have coffee. I'tﬂl =
about our bad situation. He smiled and paid the waiter who
thought that we were thieves.

(@nswer the following question : )
1. Why did the waiter and his friends get into the cafeterial
2. How did the writer find himself without money*$
3. How did the cousin help them?
(Choose the correct answer from a,b,c,d )
?. The waiter wanted to take them to the police because they

R RETTITITIT] B

&
a) Ate sandwiches c) were thieves

b) Had_al_.cooi drink d) didn't pay for the sandwiches and drinks
5. The writer's cousin came into cafeteria t ; '

e
a) Help his cousin b) have coffee
C]i f.’:a.tb.:_:h the thieves d ) meet his cousin
Answerzy/: )
1. To have a light meal and some drinks as all of them were hungry
2.Because he has changed his tr j

S sy g ousers and forget to take the -

3. He paid the waiter.

4) D) Didn't pay for the sandw:
wich -
5) C) Have coffee ches and drinks_

_-__h—_—__
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d the following passage, then answer the uestions :-

Scientists believe that twenty years from now.we will be seeing
driverless busses on the streets of major cities. This might seem
gabelievable, but bus design experts are working in laboratories trying to

ign driverless busses. An automated means of transport wouldn't only

really reliable but also cheaper and environmentally friendly because
the busses would run on electricity or by fuel.

‘ Research !1&5 shown that nearly 60% of the running cost of a bus is
spent on the driver. Therefore, the use of a driverless bus would inevitably
reduce operating costs. The vehicle is able to navigate by combining
satellite technology with a special system. This system uses magnets which
are positioned in the road. Driverless busses will probably make our
everyday lives easier. However, we must consider what will happen to the
bus drivers who will eventually find themselves unemployed if this project
becomes a reality. And they will be in stumbling block.

A)Give short answer to the following questions:-

1. What are bus design experts trying to do?
2. What is meant by (in stumbling block)?

A 3. Mention one of the drawbacks of driverless busses?
B)choose the correct answer froma,b,cord :-

4.It's expected that travelling on driverless busses will be ............

a)smoother b)harder c)tougher d)more difficult
5. Driverless busses will certainly ............ operating costs.
a)decrease b)double c)increase d)raise
S.A- Gi : (3 marks)
1. Experts try to design driverless buses.
2.In a problem OR _ inarealfix OR in a tight corner

OR in a difficult situation
3. The bus drivers will evéntually find themselves unemployed if this project become
2 reality.
B-

(1 mark)
4.2) smoother

5. a) decrease

e ——
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; ing, droughts, apg} -

include lightening, 3

henomena in clouds. These contyj, [ %

flood TI;:{e::nml;::::: ntirl;::npthundmtnrms fa"]';jn hit to form elattri?ill;

dl‘:ll:.ﬂf water l:!d fragments of ice which rub 2 g. The temperature ¢
which travels through the air causing ligllsn;:miug is very dan :

lightening can be hotter than th_ﬂ‘_.'_ of tll-t-' s_“n' ,'[lf;lhﬂ causes trees to fall, op | E

It may strike mountains, people, and buildings. 1;

e hen weather ;,|
A drought occurs when not enough rain falls. It h’.ﬂ_l’;’:: ': Drowghis °:.:
hot and water is quickly evaporated in dry areas ult in famine, diseases§
cause loss of topsoil and damage of crops. They can res lled on dry Phcu. %
and wildfires. Floods are formed when big waves are ro Floods Gon &
They occur when it rains more than the land can handle. Flo .

People drown and die, and may destroy many homes and it washed the soil ,""_

away. - kY
a) Give short an to the follo uestions: L
1. What causes droughts? Give two reasons. P

2. Mention three effects of a drought on man and environment. &

3. Find from the Passage the words which mean: :
a) removed b) has no rain i

b) Choose the correct a Swer from a, b, ¢ or d-: b

4. Floods are caused wimn dhinndwanen

a. dry areas of land roll b. not enough rain falls

€. people drown and die d. land cannot absorb rajin

5. The underliné&"‘ﬁnril that refers to the e

a. lightening b. temperature c. air d. electricity

. (3 marks) ..

E e -
1. When not enongh rain falls and whep Wweather is hot ang water is quj evaporated
0

in dry areas of Jand,
2. Drought can cause - 5- loss of topsoil
b- damage of crops

3. - removed = w;ahcﬂ soil away
b- has no rajp = drought
B-

4. d) land can't absorb rain 5.b) temperatyre

Bt ey 18



